Multiplication de Deux Binomes par un Trinome (A)

Simplifiez chaque expression.

1 (—=9¢° = 5¢*)(7¢° + 9¢°) (—8¢* + 2¢° + 9¢°)

2. (=3¢ + 3¢)(6¢* — 4c)(2¢° — 6¢* — 6¢7)

3. (—2w* + 9w®) (6w’ + 9w?) (9w® — 2w* — Jw)

L (5r% 4+ 9r%) (4r® — 9r)(2r° 4 2r* — 9r)

- (5a* + 2a)(—7a® + 5a)(—4a® + 2a® + a)

Ot

6. (3r —7)(2r° — r")(Tr* — 8r + 8)

7. (=5s” — 65%)(—35" + 55%)(—7s* — 5s + 2)

8. (62° + 7o) (22" + 92%) (- 32° — 927 — 1)

~

0. (4k* + 3k)(K® — 5k*)(—9k* — 8k + 6)

10. (9m — 7)(8m* — 9m®)(5m?® — 4m? + 9m)

MathsLibres.com




